
Rectangle Measurements (A)

Calculate the missing measurements for each rectangle.
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P = 80.64 nm
A = ?

1.

23
.1

m
i
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P = 118.3 mi
A = ?

2.
21
.0

y
d
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P = 134.82 yd
A = ?

3.

?
9.8 mm

P = 28 mm
A = ?

4.

?

34.2 km

P = 93.6 km
A = ?

5.

?

17.2 cm

P = 64.16 cm
A = ?

6.
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Rectangle Measurements (A) Answers

Calculate the missing measurements for each rectangle.
1
6
.0

n
m

24.32 nm

P = 80.64 nm

A = 389.12 nm2

1.

23
.1

m
i

36.05 mi

P = 118.3 mi

A = 832.755 mi2

2.
21
.0

y
d

46.41 yd

P = 134.82 yd

A = 974.61 yd2

3.

4
.2

m
m

9.8 mm

P = 28 mm

A = 41.16 mm2

4.

12
.6
0
k
m

34.2 km

P = 93.6 km

A = 430.92 km2

5.

14
.8
8
cm

17.2 cm

P = 64.16 cm

A = 255.936 cm2

6.
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